www.tribesigns.com

TribesiGns

Assembly Instructions

Tribesigns

LITTLE TREE

STYLE 1

STYLE 2

=
((
X

Model No. HOGA-XK00396

L-Shaped Desk




10-d

wesseysu| 1s2493uld J3UML yoogaded

:ubisaqui] mojjo4

‘9oe|d

ul sped [je aunsud NoA [i3un smauds ay3 uaybiy ||} 3,Uop aseald 's9joy ay3 O Juswubiesiw pIoAe O]
"S9YD3eIdS

Aue jusnaid 03 19dled e se yons ‘9depns e} pue ‘ues|d ‘Yos e uo sued |je sdejd ‘Buljquuasse UBYA\ ‘€
‘Buljquiasse 330439 ATLSHI4 Sh 30e3U0D ‘1da4100ul ‘pabewep ‘Buissiw si buiyiAue ji ‘ssadoud Ajlquiasse
9y buinels aio4aq sadaid ayy ||e aaey noA 1ey3 ainsus pue aouepinb o} 15| sued ay) 01 194y 7
"92UaJ9)24 31NNy 404 WY} doay pue suoldNIsul 8sayy pead A||nyaied T

-suononJijsuj >_£E¢mm<

‘9|ssey Aue 1noyum a|qissod se uoos se aseydind Jnok
Kolus ued noA os ‘Juswade|dal 931} e NOA puas pue Buiyifians jo aied el [|.9M “8889-02Z-vev-1
1e sn ||ed> Jo wod subisaqui@iioddns 1e sn 031 1no yoeas uayl pue ‘syponpold pue buibeyded sy
y1oq jo sojoyd axe3 pue buibesped 4a1no ayj dosy asea|d “A41om },uop ‘pa3dadxa NnoA 1eym jou 4o ‘13l

-100ul ‘pabewep ‘Buissiw si buiyrhue JI jdseydind JnoA yum payysizes Aj93a|dwod aq 03 noA juem app

8889-022-vZv-T ")

wod subisaqui®iioddns VNA

"} Buluin)aa a104aq Wea} 9dIAISS
Jawolsnd Jno 1oeod aseald onpold siyl yum sanssi Aue aney nok 4

jd|oy o3 a1ay 21,9\
1SN ||€D

mE@%@ﬂth wod'subisaqiil mmm




www.tribesigns.com

TribesiGns

=J

@ o—C f=e

X2 —— [B=—9 s
When using the electric screwdriver,

Reduce the power and torque to avoid damaging the furniture

SNl
&

¢

O @"@MQD

P-02



www.tribesigns.com

TribesiGns

STYLE 1

STYLE 2

NANEN
[LLFl

(4 caution)

Make sure all parts are included. Most board parts are labeled or stamped on the raw edge.
Contact us for free replacement if having damaged or missing parts.

P-03



www.tribesigns.com

TribesiGns

Parts & Hardware List

— <= = — &

@ 1pc

@ 1pc

3 2pcs

@ 1pc

® 4pcs

—

@ 1pc

9 4pcs

Hardware List

49 2pcs a9 1pc d® 1pc 42 2pcs
A [X32+1] B [X32+1] C [X12+1] D [X10+1] E [X12+1] F [ X2+1
(= @@ Qo) () @)
J6X35 J15X10 MEX30mm | M6X35mm | M6X45mm | M6X45mm
G | X4+1] H | X1 | | X8+1] J | X4 K | X8
@7X47mm M4X55 3.5X14 80X32X17 | M6XJ32mm

P-04



TribesiGns

J X4
80X32X17
P-05

| X8
P>
3.5X14

B X32
=
@15X10

A X32
W
@6X35




TribesiGns

M6X3@32mm




www.tribesigns.com

TribesiGns

®

STYLE 1

STYLE 2

Eew.

ny)

E | X8 F | X2 H | X1
@ @)
M6X45mm | M6X45mm M4X55

EW

E*|

:g\\\<

’ ’\PH=

\

4!

o ME

E | X8 F | X2 H | X1
a(© @) [ —
M6X45mm | M6X45mm M4X55

P-07



www.tribesigns.com

TribesiGns

@

STYLE 1

STYLE 2

C [ X8

(@

M6X30mm

C [ X8

(@

M6X30mm

P-08



www.tribesigns.com

TribesiGns

®

STYLE 1

STYLE 2

E | x4 G [X4
qm(o) [y
M6X45mm Q7X47mm

E | x4 G | x4
(o) [t
M6X45mm @7X47mm

P-09



www.tribesigns.com

TribesiGns

®

STYLE 1

STYLE 2

D | X8

(@

M6X35mm

D | X8

@@(®)

M6X35mm

P-10



www.tribesigns.com

TribesiGns

@

STYLE 1

STYLE 2

C [ x4

D [ X2

(@

@)

M6X30mm

M6X35mm

C [ x4

D [ X2

((©

@)

M6X30mm

M6X35mm

P-11



www.tribesigns.com

TribesiGns

STYLE 1

STYLE 2

P-12



wod subisaqi} mmm A
8889-0cc-vev-1 wod subisaqui@iioddns

Wiea} 921AI9S JWO0ISND JNO 10e1U0D

NOA

Juswade|day K

abexped el @ NOA @
dn-yd1d sjnpayds EAJ punjay/iuswade|day %

wayl abexped-ay @ wodsubisaqui®iuoddns

Aem 118y | Aem InQO

uJniaJ ays
d|puey am usaym
‘uinglieay o

mE@mﬁﬂth wod'subisaqiil mmm



